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Note:- Write your Roll No. in space provided. Over-writing, Cutting, Using of lead pencil
will result in loss of marks. All questions are to be attempted.
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1- Each question has four possible answers. Write the correct answer in the column (E).
Don't put the sign of tick, (\/ ) otherwise marks will not be awarded. (12)

QUESTIONS " la4

=

o | @ | s

wdt | wm, = x,ﬂuu/au’uzzwfhj,w- 1 [ ‘

-Amphysema - Bronctiis - Pneumionia -

Cihgae . 1Y Fems

e s
Reading." | Walking - |

pr ,:}‘yi“

" Goiter | ~ Diabetes

i ‘ky{c)i I é,’:b’ ;o
| :Bong'manow'.] Cartilage ‘

' JM‘/ - J"df&

] ;‘Emgﬁf;éntation Bmary fissron

YO ]
{;, - Two tube:. Two tube
nuclei and two:. nuclei and"one

sperm -

s A A YT

- Trapisiation Tr‘énscribtion' Transpiration. Transdumon 25

b?od iced by 4 ihé process ;

i e T _ ~s—dt>JJ-4w;/¢ 10
amoebd’: | -+ Ascaris Giiscutd J{)jggmo(}ium'_;" féxoparasxteis o

c/.(-;:' ) (.fzf"' d:’f)‘ ) s _‘r_@fydﬂ,uﬁfu'ufwa,;,yv »

Tubuln |- _Alburin . ;; dnsuline - -|Whichdf thesfollowirig is an antiviral prétsin |-

o Hi el o GAF Lo $ 2 e S e Gt a2 {5
: | . S |
Cytoplasm DNA Celiwall” Gell Cephalosporins is 4 group of antibiotics.
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- 2. Attompt any Six parts from the followings:
7 (i) Write four symptomsuf resplratory d1sorde

- __;_.VAmphysema S
o (u) What is frachea? Describe its sructure.:.”
i_(iii) How. bassi\}e’ Smokihg can be injurious 16
(-iv) Dafferentiate between. osmcregulauo: an

i thermoregu%aﬁon

their bady’? Grve one example.

i (\)i) What is. hthompsy methcd of removing storresfrom

= kxdneys?

. (vii) How ears maintain the balance of bcdy? S

L isits funchon? : S
. (rx) What is. paralysas‘? Wnte its: two causes

3, Aa‘ama,;y Fm:pamzhbh\ th(!‘foﬁ‘ "
() Wnte the names of bcmes of:h i
» skeleton ‘

: (’is) What are tendons? What s g

(m) How osteo arthntIs ts dﬁemnt from: fheumotol

: aﬁhntls’i : e
'“(iV) What are' endaspores? Wiite

i - bacteria wh:ch fcnﬁs’sach spores
" : (v) How neéw.glants are pmdueed by gra
‘i.';exampfe. L e
} ;f ,('\:li) Défine: alleles Gwe one example
- (wil) Whiat will genotype and pheriotype
| % produced as @ resu!t urfcmsébe
“yound seeded plam and true bre :
plant? )

* (vili). Desciibe two.main sb;;;rqss of variations in’ -

- popuilation,

L (c) Expiam the: limits: of: biasphere
(i Drawa diagram to represent food web and write

names of organisms in it.
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{iiy Diffemntiate between Ammé%ﬁﬁcéﬁén and LIS gf:éd}'t)ﬂu’-é&ﬂ RAPRY
Nitrification. : N
(iv) Define rmentation. Write names of its two types. -w'-“.:»u:,'u‘m Sty S 2 LT )

(v) By which bacteria formic acid s prodiiced? Write = U615 L y'! JJI et Vi J"’b; [ERSTNA (v)

s

two uses of formic acid.

_(v?) What is recoribinient D.N.A a’né how it is:_pfbdmed? v ?-—?? WL /LUJ: At q‘f cf:,L. s S (5/ (Vi) -
(viiy Wiy vaccines are used? Write names of two ,rf J,{. u’u"grt £ Ut et Qe ,J;,,,, o b it
. - ~diseases for which vacgines are used. o oy x v Je1 |
{uily What is Marijuana? Describe its two effects. = : _u: St hEurie gD (.‘f"?? £
part R
. Attempt any th;ree.;auéstions ;(7,(3%;2*) - . q ,Q fv&h’ Le it ufc- Jf . u;
5. (a) Explain two methods by which plants exc‘hange t*;fJ;t: Kz u‘:u»{ S u’f oty J u,g ),,u;( e 5 f e
their gases, : ap e '

o (b) How halorxhytes mamtaln the baianeeofsans in. . :"t-.lf 'Y ‘}gé_’ W'.’WQLG A {‘)'f%#’d’:fﬁif(.,a)
: the:rbodyv ] I33 SR

8. (a) Describe the structure of neuron. -~ - [4] _ ,‘U;‘/ug..-)u{uui () -6

{6) Explain thre types of Arthritis. 131 ' L;;_’)i;»uﬁﬂ:}ﬁéﬁ@f’(.,)

7. (a) Describe the changes which také maoefrom i z.ru&, ! ;ﬁfé.c. o dy A Ui i U (J!) 7

pollinaticn to the formation of embrya ina ﬂowemg R Sk uti',y
pemt A O D '
(b) Explain the process- of spermatogenesis in. ) LS u"-"";‘»,’;,;;j.‘. Dol

animals. TN £

8. (a) Explain Mendet's law of independent assortiment s f il ity a1 ST e 1 fUB (LD -8
L apdedid ﬂ,q):-,;ryz,p&g spiteton ()

one exariple of each, : 131 -

(b) Compare Parasitism to that of Mutualism. Giv

9. (a) What s single cell protein. how it is pfoduoed : gm,,:a b Lfm’z." Cie dn cfufu L,hﬁ‘(.«h) ry

and what isits importance? S .[4]'- . o Sel gt
'{b) What are antiboitics? Explain its;twasxybes.[a']_ o -‘,rf.»u,(frumvadrgu@u;r(u)

C@y)

N R e S e



http://www.result.pk

TR

T S— ,m
Attempt-any two Questions (5 X2= 10)
10. (n) (a) Write the procedure for the expenment

showing presence of carbonvdrmode in ma .

exhailed air.
' (b) ‘Which: compound is. formed when carbon

'dmx&de is added 1o lime water. R 21

(i (ayDraw-a !aballed dlagram for Binary fission m
Atosbas . SR s
(b} Differenitiate between Buddmg and Bmary v
- fission; '

(i} {a) Write:the procedure-of stem cuttmg in rose 2
plant. , f@:l

(b) Name two such plants-(éxcept mse) inwhich £

vegetaﬂve propagatron is cartied out'b stem )
cutting.

(Practical Part)
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